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QUESTION 1

Examine the following partial outputs from two routing debug commands; then answer the question below. 

# get router info kernel 

tab=254 vf=0 scope=0type=1 proto=11 prio=0 0.0.0.0/0.0.0.0/0->0.0.0.0/0 pref=0.0.0.0 

gwy=10.200.1.254 dev=2(port1) 

tab=254 vf=0 scope=0type=1 proto=11 prio=10 0.0.0.0/0.0.0.0/0->0.0.0.0/0 pref=0.0.0.0 

gwy=10.200.2.254 dev=3(port2) 

tab=254 vf=0 scope=253type=1 proto=2 prio=0 0.0.0.0/0.0.0.0/.->10.0.1.0/24 pref=10.0.1.254 

gwy=0.0.0.0 dev=4(port3) 

# get router info routing-table all s*0.0.0.0/0 [10/0] via 10.200.1.254, portl [10/0] via 10.200.2.254, port2, 

[10/0] dO.0.1.0/24 is directly connected, port3 dO.200.1.0/24 is directly connected, portl d0.200.2.0/24 is 

directly connected, port2 Which outbound interface or interfaces will be used by this FortiGate to route web traffic from
internal users to the Internet? 

A. port! 

B. port2. 

C. Both portl and port2. 

D. port3. 

Correct Answer: B 

 

QUESTION 2

View the IPS exit log, and then answer the question below. 

# diagnose test application ipsmonitor 3 

ipsengine exit log" 

pid = 93 (cfg), duration = 5605322 (s) at Wed Apr 19 09:57:26 2017 

code = 11, reason: manual 

What is the status of IPS on this FortiGate? 

A. IPS engine memory consumption has exceeded the model-specific predefined value. 

B. IPS daemon experienced a crash. 
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C. There are communication problems between the IPS engine and the management database. 

D. All IPS-related features have been disabled in FortiGate\\'s configuration. 

Correct Answer: B 

 

QUESTION 3

View the exhibit, which contains the output of diagnose sys session stat, and then answer the question below. 

Which statements are correct regarding the output shown? (Choose two.) 

A. There are 0 ephemeral sessions. 

B. All the sessions in the session table are TCP sessions. 
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C. No sessions have been deleted because of memory pages exhaustion. 

D. There are 166 TCP sessions waiting to complete the three-way handshake. 

Correct Answer: AD 

 

QUESTION 4

Which of the following statements is true regarding a FortiGate configured as an explicit web proxy? 

A. FortiGate limits the number of simultaneous sessions per explicit web proxy user. This limit CANNOT be modified by
the administrator. 

B. FortiGate limits the total number of simultaneous explicit web proxy users. 

C. FortiGate limits the number of simultaneous sessions per explicit web proxy user The limit CAN be modified by the
administrator 

D. FortiGate limits the number of workstations that authenticate using the same web proxy user credentials. This limit
CANNOT be modified by the administrator. 

Correct Answer: C 

 

QUESTION 5

View the exhibit, which contains a session entry, and then answer the question below. 

Which statement is correct regarding this session? 

A. It is an ICMP session from 10.1.10.10 to 10.200.1.1. 

B. It is an ICMP session from 10.1.10.10 to 10.200.5.1. 

C. It is a TCP session in ESTABLISHED state from 10.1.10.10 to 10.200.5.1. 

D. It is a TCP session in CLOSE_WAIT state from 10.1.10.10 to 10.200.1.1. 
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Correct Answer: A 
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